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SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Define point estimator.
2. 
Prove that the sample mean is an unbiased estimator of population mean.
3. 



For a random sample  from an exponential distribution with parameter , show is a sufficient statistic for .
4.	When the statistic T is said to be boundedly complete?
5.	State any two properties of maximum likelihood estimator.
6.	Describe type-II censoring.
7.	What do you understand by one sided confidence interval?
8.	How interval estimation differs from point estimator?
9.	Define minimax estimator.
10.	State Bayes rule.
11.	Point out difference between Cramer-Rao and Chapman-Robinsons inequality.
12.	State Rao-Blackwell theorem.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13.	State and Prove Chapman-Robins inequality.





14.	For a random sample  from a binomial distribution with parameter  (0<<1), show is complete sufficient statistic for .
15.	Explain EM algorithm.





16.	For a random sample  from a normal distribution  with parameter  known and  unknown. Obtain confidence interval for .


17.	Find Bayes estimator of the single parameter of the Poisson distribution when it is known that the prior distribution of  is gamma distribution.
18.	Find maximum likelihood estimation under random censoring.
19.	Give in brief the method of moments for estimating the population parameters.
SECTION C — (3 × 10 = 30 marks)
Answer any THREE questions.
20.	(a)	State and prove Cramer – Rao inequality

	(b)	Obtain Cramer Rao lower bound for point binomial distribution    with parameter .
21.	State and prove Lehmann-Scheffe’s theorem.
22.	Explain the method of minimum Chi-Square in detail.
23.	Discuss confidence intervals based on large samples with suitable example.

24.	If 

	Find Bayes estimator for the shape parameter  if the prior is improper.

_____________
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